BAXiaA

BEEHR KEHHEW
SMIFEE #8% SHES BEA

A|B| XHiEH XHAR IRARE || ZHE%E| %= e

4 | 1 || BiFEENE (4 ~ 6 A% @180000 % 34 H 540,000 540,000

4| 6 | EWRE |[ERER KEE 440 539,560)

4| 8 |AEHRE | BHER XEBE 220|| 539,340"

4| 8| mEE |REEHSER 480|  538860)

4 | 21 LiEE |REME#H XE8F 440|| 538,420"

4| 22| LEEE |RERERXEE 700|| 537,720"

4 |24 LEEE (REH#ER XAE 440|| 537,280"

4 | 25 | EAEHARE |EHHERL XEBE 500] 536,780

4| 27| HHE |BEE 1 4—%v ) /AR 2,069 534,711 50%&t £
4 | 27| HHE |EEE (EFEHE SAHFKY 1,697| 533,014 50%&t Lt
4 | 28| ILEEE |ERMEHKXAEFE 440 532,574

5| 6 |RAEHARE |BAER XBE 440|| 532,134

5 | o | BEWRE [BEER AR 700( 531434

5 |11 || REHARE |BRER XBE 440| 530,994

5127 H¥%E |(BEE (1%—xvb) 4AR 2,069 528925 50%3%t L
5127 H¥%E |BEE (BFER 4AHBKY 1,892 527,033 50%&t Lt
5| 31| AEHARE [EHER XBE 440 526,593

6 | 5 |AEHARE |EHER XEBEE 220|| 526,373

6|5 LiEE (REHERXEE 480" 525,893

6 | 9 |AEHARE |EHER XEE 440| 525,453

6 | 13| LEZE |[KERENREE 1,694 523,759

6 | 14| AEHARE (WBBAHAE XBE 1,160 522,599

6 | 16 | AEHARE [EHMER RXBE 440| 522,159

6 |28| EHE [(BEE (1>4—xvb) 5AH 2,069 520,090 50%&t £
6 | 28| ZHH%E |BEE (BFEHE S5AFEKRY 1,844 518,246 50%%&t L
6 | 29 | AEMARE |BrMER RBE 440| 517,806

6 | 30| LEE [REMEHRKBEE 700 517,106

7| 1 | BiEEEE |7 ~ 9 BH@180000% 34 B 540,000 1,057,106

71 | RERRE (ERER XBEE 440( 1,056,666

719 et RBE 220 1,056,446

719 LEE |[REEH XEFE 398|| 1,056,048




BAXiaA

BFEHE EHRSE
SMIFEE = 1=F ChAES BN

A|B| XHiEH XHAR IRARE || ZHE%E| %= e

7 (13 LEZE [REHEREE 700( 1,055,348

7 | 19 || EHBEAL [BELonYEbAD. TIFUEREDREBEMNH 1,320" 1,054,028

7 (25| LEE |EEHER XEB8E 650|| 1,053,378

7127 EHE |BEE (1 8—xvbk) 6AR 2,069 1,051,309 50%&t £
7127 H¥E |BEE (EHEEHE 6AFKY 1,461( 1,049,848 50%%t L
8 | 1 LEE |[EEEH XEBFE 650 1,049,198

8| 4| szB |[%BEEB 440| 1,048,758

8 [ 18| mEZE |[RREHKEH B2/ 550( 1,048,208

8 |19 Z=HE |[FRUMTIPC 34880] 1013328  809%Gt L
8 | 24 | AEHARE [EHER XBE 440|| 1,012,888

8 |25 smE |(%EE 440| 1,012,448

8 |27| H=¥%&E |BEE (1 4—xvb) 7AR 2,070 1,010,378 50%7%t L
8 | 27| ZH¥%E |BEE (BEFER 7AHKY 1,449( 1,008,929 50%%t L
8 | 27| HHE |[ERYYT 349( 1,008,580 80%%it Lt
9| 6 EXE B4 784|| 1,007,796 80%%&t L
9 | 10| AEHARE [EHER RXBE 440| 1,007,356

o | 15| EEE |REEHZBEE 440 1,006916

o | 17| AEWRE |[ERER KEE 440 1,006476

9 | 20 | AEWRE |[ERER BB 440| 1,006,036

9 | 25 | AEHARE [EHER RXBE 440|| 1,005,596

9 | 27| H¥%E |(BEE (124—xvb) 8AR 2,070 1,003,526 50%&t Lt
9 |27 =H%E |BEE (BFEHR 8AFKY 1,934/ 1,001,592 50%&t £
10| 1 || Bui&EEIZE |1 0~ 12 B4@180000% 34 B 540,000 1,541,592

10| 5 | AERRE [ERMER BEE 440 1,541,152

10| 7 (|AEHRE |BEFHER REBE 440|| 1,540,712

10| o | AEFRE AR AR 440 1,540,272

10| 11 (|FAEHRE |EFHER RBE 440|| 1,539,832

10 [ 15 | AEMRE (ERMER BEE 440|| 1,539,392

10| 19 | FAEMIRE |EFHER RBE 440|| 1,538,952

10|19 H=HKE |E2Tv/tsh 440|| 1,538,512 80%%&t L
10|27 H=HE |BEE 1 48—xvbk) 9AR 2,070" 1,536,442 50%7%t L
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BFEHE EHRSE
SMIFEE #8% ChAES BN

A|B| Xx&HEH XHAR IRAEHE | XEL%E| %o e
10|27 H=HE |[BEE (EHFEF 9HHFKS 1,961| 1,534,481 50%&t £
1|5 EBE |TIE—AVTh—RN)vD 6,494 1,527,987 80%&t Lt
11|15 | AEHRE |EFHER RBE 440\ 1,527,547

1| 17 | AEHEE | SHER EE 440 1,527,107

1|19 |FAEHRE |EFHER RBE 440|| 1,526,667

11| 22 | AEHEE | SHER EE 440| 1,526,227

11| 26 | AEWIRE |EFHER RBE 440|| 1,525,787

11| 20 | AEHEE | SHER EE 440| 1,525,347

1|20| =HBE |BEBULE2—RYN108H 2070] 1523277  509%3t
1| 20| FHHE |[BERGEFEH 10AHRS 1340 1521937 5093tk
12| 2 | AEHEE |ERER BB 440] 1,521,497

12| 7 | AEHEE |EHER EE 440| 1,521,057

12127 H¥ZE |BEE 1 42—y k) 11AH 2,070/ 1,518,987 50%7%t L
12| 27| H¥E |BIEE (BEEFE 11AHXKS 1,267 1,517,720 50%&t Lt
1| 4 |mBEEnE|1~3 A%ei80000%34 A 540,000 2,057,720

15| =BE |ATU—(FRIMTA) 0.440| 2048280  80%Gt L
1 [ 14| SAEHARE [ERMER XBHE 440|| 2,047,840"

1 [ 15| BEHEBAE [EETRAIHRE] 1,980 2,045,860

1127|| HHKE |BEE (1 82—y b)) 12A% 2,621 2,043,239 50%3%t L
1|27 H=%E |[BEE (EHEHE) 12AHBKRY 1,800 2,041,439 50%&t Lt
1|28 | AEMRE [EHER XBE 440| 2,040,999

2 | 1 EHRE (= 88|| 2,040,911 80%3Et L
2 | 14| REHARE |ERMER RBE 440\ 2,040,471

2 | 16 | AEHARE |BRMER RBE 440|| 2,040,031

2 | 21 | AEHARE [EHER XBFE 440|| 2,039,591

2 | 24 | REMRE |BAER XBE 440|| 2,039,151

2 | 28| EHHE |BEE (BFER 1AFKS 1,860" 2,037,291 50%%&t L
3|9 |REHARE |BHER XBE 440|| 2,036,851

3 | 14| AEHARE [EHER RBE 440 2,036,411

3 (14| HHE |TIvE—A2) 5184/ 2,031,227 80%3Et L
3 (15| HHE |(FTIoE—av) 3,398( 2,027,829 80%&t Lt
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BEEHE SHIEES
SHMIEE BE4 CAES BA
B| XHIER ZHEAR IRA€EE || ZH£%E RE -5
28| EHE |[BEE (EHFEHE 2#EF XS 1,731 2,026,098 50%:t E
27| EHE |[BEE (EFER A#EXS 1,724| 2,024,374 50%35t L
- 2,160,000 135,626| 2,024,374




